PART - A
BOTANY

(Maximum : 30 scores) Time: 1 hour
Cool-offtime : 10 minutes

Answer any 3 questions from 1 to 5. (1 score each.)

£aN) MGG GREDI AN Ca1IGYEERUBHE aBHOESILN0 MHANNEHIN YOMA0 Af)$)®)B>.
1 U693 arlmo.

Ploidy of endosperm in flowering plants is ..................

MafatiaileSlos RO CUODAT ....vvvvvvvvvrrrrrrrs @6r.

The palindromic DNA sequence of EcoRIis .....................
Eco RI agyam agyadee vl atoeileiawoo DNA @RM)(HDEMO ..o @M.

Observe the relationship of the first pair, and fill in the blanks.

Cryl Ac : Control cotton boll worm
CrylAb: .o

8aNoNOHOM GRISIWOS NITWo M01eHl2] ENRILOTD GEROS] A ) BOHIWOL)Hs.
Cryl Ac : aio)yomldileal eenioudcalo
CrylAb: .o,

Food chain starts with the breakdown of dead remainsiscalled .........................
a.  Parasitic food chain
b.  Detritus food chain
c.  Consumer food chain
d.  Grazing food chain
2Dy@00IuBladS QfleeISMOTIG3 @RYO0ElHNIAN BHHLUOYORIBIDIEN) .......coveeereerrereeeenneee
a.  al@OB BAHULUoLoa el
b.  2y®o0IuBlatis B WO oA IA
C. DalBBOAD BMUJUOLoa Al
d.  eWwalod) BeHyUoy0aIEAl

Write an example of brood parasitism.

(6N 1006RIAUMOHIM) BOAODEMO af)P}@)d:.

Answer any 9 questions from 6 - 16. 2 score each.
6 D)®MO 16 AUHOWIBB CalddyBB1Td a@o@&ILI0 9 af)eNo af) P @) M.
2 MVEHI3 arlmo.

~
r: "
(1)  Identify the technique.

(i) How can we visualize DNA fragments after separation?
1) oD AIEHOBAIBY MG olw)d:.
(i) DNA #at6mesBes &06m)QI0m SH$lIaN® af)edBem?
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10.

Double fertilization is a unique feature of angiosperms. Write down its events.
Moaljataildgloal 3oy TVaileuoat (al(@lo®oem) BilenITRIVocWIN.. @RTIN *LI56E3US
) 9} ).

The following graph shows two types of population growth curve.

a.  Name the growth curve Aand B
b.  What does K stands for?

rLOWOEM @RAIMOWVIE3 RMAVORILIMVI(MB@ WIBEM DB AUSB2J0B3Q1)E:U3 @6
@969 B:06mM2{ldlEe)M®.

a. OOIT3A ®o B o o) @RSWIS6Ha|S;OTIVICE9)N AIBB 2 05BN HB)0S
GalO09) )b,

b. Koo af)amlom@osn (al@ImIwomo 621Qano)?

Observe the given diagram, and answer the following.
(1) Identify Aand B.
(i) Write two peculiarities of A

2 &S103 DG 2fl(@o MIE1e:H] 2] DOMOODLI®) .

(1) A w)o B w)o @dlo0lw)s..

i) A ©)6S (GO BHOBHUD af)PIO) .
Connect the terms in column A with suitable definition given below and fill up
columnB.

(1) Rate of biomass production.

(i) Rate of storage of organic matter by producers in excess of their metabolic
consumption.
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(i) Rate of production of organic matter by plants during photosynthesis.
(iv) Rate of formation of new organic matter by consumers.

A B

1. Netprimary productivity | ...ooiiiiiiii
2. @Grossprimary productivity | ..o
3. Productivity |
‘ 4. Secondary productivity | ..o

G080 A WflOel QNGENHOB MY MATIBlEe)IM 13012 IMEEBS)20W auawigﬁg BHOBo
B a)30ml@ose)s.

(i) eoxRalailemao 9@ alodlaflenyam alods

(i) 620COVENSS (aI0LNilE: OEInI0BMGHAMDVI@ Mo VOITVM(AlBIVTEHIWD
DalcWIUIlENM® &)0WEN)EMIOUS LIElEe) M.

(i) B0) @YAIVAISAUINNWIGE (alHOUd TVoGRaUeMOmIenNes mldalenyan
96201 ®)0iloag Mloss

(V) 9aleRIEMIBHUS al)®IW HORAIaleMo WAL MBS

A B
l.  aneomlenss (alonoile
DLIIIBMAHDD | e
2. o20ODOMIG BB (o I0LNAH>
DLIIIBMAHDD | e
3. 9BINBMBHAD |
| 4. 6l@10 9EIa0BMEHA® |

11. (i Expand GMO
(i) Write any two advantages of GMO?
1 GMO o ailanerle:ole)o.
(i) GMO VoS aBoMes1Llo VNS EMFEBBUB af)LIM)bs.
12. Bacterial cells are made competent for rDNA technology.
How can we make bacterial cells competent to take up recombinant DNA?
B0} o) 0CWIRD Wlaf)M.0f) DalcWIFA)88 ~IGIAIGCMMORIN) NI0S:SIlW
GHOUDOHO f)6BBOM (AIdaIMMOIW BRYDIGLOW @RYHHIo.

13. 5 il

= == ——
[ —] *
l
A B
(i)  Identify the age pyramid; A and B.
(i)  Write the age distribution of pyramid B.
) 2@oRc3 »MIBlEe)MM a2l alloalw)e:ud A @)o B @)o @10lojolw)d:.

(i) B ogel aillodlawleom ay@myai® (al0@alolwlo® (al@ImIWwlsclonyan
Qil_OWEBBUB ag)®) )b,
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14. Write the steps of decomposition in correct sequence.
(Humification, Catabolism, fragmentation, Leaching, Mineralisation)

aileaismomleng allallw ceIgeEBRU3 VEIVWIW (HAOWITE af)P)@)d:.

(a03)0fla01EH6UMB, @oalalWo, (aNIOAEZH, £ila{leas, WOM)QITILHOEMO)

15. ADA deficiency can be cured by gene therapy. Explain this method.

ADA @ralojonf®® RI1M 2lalonnolenss alola0olendanammosm. o™
aflasloroolmlees ailailw afigEBud ailuosTe:Glen)d:.

16. Grass — grasshopper — frog

(1000J) (100J) (10J)
i)  Draw the pyramid based on the above food chain.
i)  Identify the types of pyramid.

@89 ®aMIAlen)n R1aile:8)es ailaloeaBud MI01e:HlH6)o:.

alel — an@dasl » ®as

(1000J) (100J) (10J)
) DD BEMUVOLAILIOW GRSITLOIMASH] alloalal MIB2XE)s:.
i) ®Mdale alEalW ag® @®o2066mMa @Glayolw)d:.

Answer any 3 questions from 17 - 20. 3 score each.

17 M®G3 20 AUNOV)BS Gal0346381T aBO@ B0 3 2INODIN DTN NY) D) B>
3 AUE®03 arlmo.

17. Zostera and grasses are two plants.

(1) Name the types of pollination in these plants.
(i) Write down the peculiarities of flowers of such plants.
coqulow)o aljehio VNS MOODIT3 AIEINEMo MSHN)AN TVAVYEEBSO6N.
(1) 0D EB) MVALLEBSIA0 MSHHNIMM alEIWNEM OTTNH:S)OS GalHOP)®))d:.

i) (ICO®id AITNWVIOLI alEdWNEM@BTIMIW] DD TVAVEBSINLI aHHB)HS VIR
aLANGUOAH®BHUB af)PYD)bs.

18. Animals that carry foreign genes are called transgenic animals.
(1)  Write any four uses of transgenic animals.

(i) Name the human milk protein isolated from first transgenic cow - Rosie.
@PMY QAUaslENIM RAN)ENOSB (SOMWAVRMIE; RAMBHUB af)im) Aflsles)an).
() DY RWENBVOS aBO@EIRN0 MIET DalEWINEBBUB af)9)M)b>.

(i) ERBIOOD (SOMIVRMIE; 1D}V COOMIWOS alelld wlm) cadddle als)om
@MU A00TVY0 ABD?
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19. Fillin the blank columns in the given table with appropriate terms given below.

(Commensalism, cuscuta, mutualism, lichen,
parasitism, orchid)

' Species A Species B Type of interaction Example
+ + @..... | (b).....
+ o | .. ©)eeee | (d.....
+ - . | e ®.....

WO 2] QAUVBN)BUS DalGWOUIla] al5ld: al)BOIWIB)E:.

(rvao=laimo, MS1ePOMOGE],  TVEa0IHICI®, ORI
al02BR1alMo, 803Hs103)

(1SS A | aSafaulas B a1l DO®ICMIHG | 932a006Mo
Gald
+ + @... | (b).....
o | . ©)eeee | (d).....
- ©e. | ®.....
20.
Cfalﬁ\ _Hindill
EcoRl— Il

BamHl

Sall

Pvull
E.coli cloning vector pBR322

Given is the diagram of plasmid.
(i)  Write two selectable markers
(i) Roleofrop?
(i) Write any two cloning sites of PBR??
DO %\)Joqﬁkw%)og afl@@o6n).
() oo goaidlalleonl 0enE OIVLIGSMIUE BOBHHE af)9}®)d:.
(i) rop WEsS WABRo ag)aD)?
(i) PBR™6el ago@ssleno 06ms ¢g06mlo} 00aUQ éhU8 af)9}m)d:.
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